PACIFIC GAS AND ELECTRIC COMPANY�rebuttal testimony�of�steve g. parsons�chapter 2d�economic testS for cross-subsidy and anticompetitive prices

Q  1	If the Commission were to implement PG&E’s proposed allocation of A&G, and not allocate residual A&G to Generation, would the resulting prices produce a cross subsidy from Transmission and Distribution to Generation, as alleged by CLECA and other parties?

A  1	No, under the assumption that PG&E has properly determined its incremental costs of providing Generation service.  As long as the price charged for Generation covers its incremental cost (without an allocation of common costs, i.e., residual A&G), PG&E’s proposed residual A&G allocation meets the Gross Incremental Cost Test and Generation does not receive a cross-subsidy.  

Q  2	If the Commission were to implement PG&E’s proposed allocation of A&G, and not allocate residual A&G to Generation, would the resulting prices be anticompetitive, as alleged by CLECA and other parties?

A  2	No, under the assumption that PG&E has properly determined its incremental costs of providing Generation service.  As long as the price charged for Generation covers its incremental cost (without an allocation of common costs, i.e., residual A&G), PG&E’s proposed residual A&G allocation will result in prices that satisfy both the Incremental Cost Test and the Marginal Cost Test to prevent anticompetitive pricing.  These tests are described below.

Q  3	Please state your expert opinion as to whether the costs which PG&E attributes to Generation in its December 6, 1996 Cost Separation testimony can be used to test whether Generation receives a cross-subsidy or is anticompetitively priced.

A  3	According to PG&E’s testimony, it attributes the following costs to Generation:  (a) the embedded, capital related costs of identified generation-related plant; (b) the embedded, capital related costs of common plant which are incremental to the generation function; (c) maintenance and operating expenses of generation; and (d) administrative and general expenses which are incremental to the generation function.

Items (c) and (d) are forward-looking expenses caused by generation and are properly part of an incremental cost study.  Items (a) and (b) are backward-looking (accounting based) costs, which by definition are not properly part of an incremental cost study.  It is my understanding that generation technology has become more efficient over time and that efficiency is likely to continue in the future.  Therefore, by including embedded rather than forward-looking costs for items (c) and (d), PG&E’s generation cost estimates probably overstate the true incremental cost of Generation.

Q  4	Does the probable overstatement of the true incremental cost of Generation invalidate the conclusions you have stated above, that the prices resulting from PG&E’s proposed allocation of residual A&G does not cause Generation to receive a cross-subsidy or to be anticompetitively priced?

A  4	No.  To the extent that PG&E’s cost estimates overstate true incremental costs, prices resulting from PG&E’s proposed allocation of residual A&G costs will exceed those required to guarantee that Generation does not receive a cross-subsidy or is anticompetitively priced.  In other words, these tests will be overly strong to the extent that costs are overstated.  

Q  5	What conditions must exist for a service to receive a subsidy or a cross-subsidy?

A  5	Generally, a service can be said to receive a subsidy, or a cross-subsidy, if that service produces revenue which is less than the increment in cost caused by the provision of the service.�  Therefore, the service does not receive a subsidy if it produces revenue equal to, or greater than, the incremental cost of providing the service.  This standard is sometimes called the gross incremental cost test.

Q  6	Why is this standard called the “gross” incremental cost test?

A  6	It is called the “gross” incremental cost test since it does not explicitly account for cross-elastic revenue effects; this test considers only the gross revenue from a service and ignores any indirect effects on the revenues of other services.  A cross-elastic revenue effect occurs when a firm’s sale of one product or service has an effect on the quantity demanded of other products or services.  For example, if the firm in question is a fast-food restaurant, the sale of additional hamburgers (by reducing the price of hamburgers, for instance), is likely to cause an increase in the quantity demanded of french fries; in economics, these services are complements.  In contrast, if this firm cuts the price of hamburgers, it is likely to cause a decrease in the quantity demanded of chicken sandwiches; in economics, these services are substitutes.

Q  7	Is there another test to theoretically determine whether a service is receiving a subsidy?

A  7	Yes, the other test to theoretically determine whether a service is receiving a subsidy is the “net incremental cost test.”  This theoretical test requires that the all cross-elastic revenue effects are included in the calculation of the increment in revenue and the increment in cost to the firm due to the service in question.�  In essence, this test would add the indirect contribution from other services to the incremental revenue of the service in question.�  For the fast food restaurant, the lower-priced hamburger would receive the “credit” for additional contributions from french fries but it would also receive the “blame” for lost contribution from chicken sandwiches.  This test has also been described as the “burden test,” meaning that if the service passes this net incremental cost test then the service causes no burden on the firm, ratepayers or other services.�

Q  8	Which test, the gross or net incremental cost test do you recommend the Commission consider for practical purposes in this proceeding?

A  8	While the net incremental cost test may be theoretically superior, for practical purposes, I recommend the Commission consider the gross test for three reasons.  First, the net test requires a quantification of cross-elastic revenue effects, and these effects would be difficult, time consuming and perhaps impossible to quantify with accuracy.  Second, some economists have recommended the gross incremental cost test as the appropriate criterion for fairness to competitors.�  And third, the gross test should be a more conservative test in the absence of strong substitute relationships.  For the immediate purposes, it appears that generation, distribution and transmission are not strong substitutes.  In the absence of strong substitutes, the gross incremental cost test can serve as a more stringent test than the net incremental cost test.�  In other words, the relevant circumstances appear to make the gross test a more stringent, i.e., a more conservative, test of whether electric power generation receives a cross-subsidy.

Q  9	What economic standard determines the lower-bound for pricing a service?

A  9	Incremental costs establish the lower bound for pricing services.�  In general, no unit of a service should be priced below its volume sensitive incremental cost.�  Volume sensitive incremental costs are those which are directly caused by changes in the volume or output of a service.  In electric power, fuel oil burned in generation would represent part of the volume sensitive cost of a kWh of power generated.  This pricing standard ensures that the cost of producing an additional unit of output does not exceed the value society places on that unit of service.  

Also, in general, the prices for all of the units of the service in total, must be sufficient to recover all volume sensitive costs of the service, and any volume insensitive costs (i.e., service-specific fixed costs) of the service.  Volume insensitive (but service specific) costs are those which are caused by the existence of the service or activity in its entirety but which cannot be attributed to a particular unit of volume of the service.  The combination of volume sensitive and volume insensitive (but service specific) incremental costs is sometimes called the total service incremental cost (TSLRIC).

Q  10	What economic information is relevant in determining the price of a service?

A  10	In addition to incremental cost, which establishes the lower bound for pricing a service, market information is the critical information for determining prices themselves.  Market information comes in two primary forms:  information regarding demand; and information regarding competition and competitive alternatives.  This information provides a reflection of the value society places on the service in question and the ability or inability of the market to sustain certain prices.  It is the market which ultimately determines the level of contribution (above incremental costs) each service can provide toward recovery of the common costs of a multiservice provider.  

Q  11	How is TSLRIC related to the incremental cost test to determine whether a service receives a subsidy? 

A  11	TSLRIC is the relevant incremental cost for use in either the gross or the net incremental cost test.�

Q  12	Do incremental costs represent the lower bound for pricing only for regulated encumbents?

A  12	No.  Incremental costs represent the lower bound for pricing for any firm.  I expect other firms with generating capability to consider their own incremental costs of generation when making decisions about pricing and supply of power in PG&E’s existing territory.  Incremental costs properly form the lower bound for pricing for sound public policy and sound business decisions.  I do not expect other firms to consider allocations of common costs when making business decisions regarding the provision of generation services in PG&E’s existing territory.  

Q  13	Does TSLRIC provide the economically relevant cost standard for testing for anticompetitive pricing?

A  13	Yes, although this standard may be stringent or overly strong.  TSLRIC properly reflects forward-looking economic costs, rather than accounting or embedded costs; as such, it considers the economic cost information relevant for evaluating cross-subsidies or anticompetitive pricing.  However, portions of the economic and legal literature suggest less stringent standards for testing for anticompetitive behavior.�  On balance, TSLRIC provides a strong, and perhaps overly stringent, test for anticompetitive behavior.  Prices for generation which yield generation revenues which are equal to or greater than the TSLRIC of generation, is sufficient to prevent PG&E’s generation service from receiving a cross-subsidy or from being priced in an anticompetitive fashion.

Q  14	Does this conclude your testimony?

A  14	Yes, it does.

�	The first rigorous published treatment of cross-subsidy is presented by Gerald R. Faulhaber, Cross-subsidization:  Pricing in Public Enterprises, 65 American Economic Review 966 (1975).  The term cross-subsidy is used in instances where the firm is a multiservice firm, such that the subsidy exists across services; one service may receive a cross-subsidy at the expense of other services.

�	The gross and the net incremental cost tests are equivalent when cross elastic effects are zero; i.e., when there are no complements or substitutes for a service.  It is also possible that the effects of complements and substitutes could cancel out each other.

�	Alternatively, one could think of reducing the incremental cost calculation for the service in question (by the amount of the cross elastic contribution) in order compare this figure to the revenue directly attributable to the service in question.

�	William Baumol may have been the first to discuss a burden test.  See Gerald R. Faulhaber, Cross Subsidization in Public Enterprise Pricing, in Pricing in Regulated Industries:  theory and Applications II 104 (John T. Wenders ed., 1979) citing F.C.C. Docket No. 18128 (July 1970) (Bell Exhibit No. 12).

�	William J. Baumol Superfairness:  Applications and Theory (1986), at 119.  Unfortunately, Dr. Baumol does not propose a test for the fairness to incumbents. 

�	If strong substitutes existed, the gross revenues from service would in part reflect cannibalization between the substitutes.  A net test would reflect this cannibalization. 

�	Because much of economic theory, and economic textbooks deal with single product or single service production, the term “marginal” cost rather than “incremental” cost is often employed.  These two terms are conceptually similar.  Incremental cost is more generic, encompassing larger increments of outputs and more naturally reflecting the multiservice nature of costs. 

�	The qualifier is applied because of the theoretical possibility for strong cross-elastic effects, as was discussed earlier.

�	Unless one is testing for a subsidy to a single unit of service or an increment of service smaller than the total service.

�	For example, the recommended use of average variable cost or short-run marginal cost to test for predatory pricing.
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